N & o & AF &2 H Ml A
20098 = =0l A L BES|H|
SN AESXIL
Hu: NENE RA(SHHLSA/AY - AE)
CHol: SRR BB (SH9:®el)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
AHE =X 15,190,213 17,835,877 N2,645,664
= 4,876,259
s 2,275,480
& 1,738,028
= 6,300,446
MR SH (M LA/ - AE) 1,575,698 2,981,852 A 1,406,154
= 333,540
& 252,750
i 989,408
=Xs2 &= 114,992 182,298 267,306
= 11,177
= 900
= 102,915
SMEHE =& 8,785 2,625 6,160
301 YBtEa= 8,785 2,625 6,160
07 BlZtel= 2/l 5,775 0 5,775
OIS0k 212+l 291048
1,443,600 8 50/ 100 5,775
10 dAIAMHIEAZ 3,010 2,625 385
OYYSEI DT L WS &0 3,010
-5 68,0003 20 1,360
— S L 55,000 *30H 1,650
Jt2=2tel 83,078 156, 160 AT73,082
206 M=l 3,900 3,900 0
01 MZ bl 3,900 3,900 0
OZZANUN 228 DEHE 7
12,0003 200 2,400
O3 AMX 2elg EH 2¢
3,000 500 1,500
401 AIEHIZL =0 79,178 152,260 AT73,082
01 Al&HI 79,178 152,260 273,082
024 AlER2IAY 79,178
—Jt2= ZHI(110km) 39,589,000& 23| 79,178
SAE2tel 19,629 20,013 A 384
= 11,177




SA: ARSI
Hu: MUY SH(SYHSSM/AY - AE)
CHel: SXB &S (B9l &9
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
SAg e = 900
= 7,552
101 Q1214 13,629 14,013 ~384
= 8,177
= 5,452
10 JIZHI2ENSES 13,629 14,013 384
O=bI2 EAH 13,629
—CAsXelH 13,629,00021 1% 13,629
= 8,177
2 5,452
401 Al&HIL=HY 6,000 6,000 0
= 3,000
= 900
= 2,100
01 A& 6,000 6,000 0
O=bI2 E A 6,000
—SAIY AMEHEA 6,000,000% 14} 6,000
= 3,000
< 900
2 2,100
LIRAD| & A 3,500 3,500 0
206 M2l 3,500 3,500 0
01 Mz 3,500 3,500 0
OUIRADI#AL ATHLIR R
7,00021 #5002 3,500
=EE IR 903, 188 1,335,500 ~432,312
= 180,000
= 723,188
HRUNS BSH X4 385, 194 117,500 267,694
201 sty 1,200 0 1,200
02 ZzZ2H| 1,200 0 1,200
OBYE dJIQ2 100, 0008 * 1224 1,200
401 Al&HIL=HY 383,994 117,500 266,494
01 A& 383,400 117,500 265,900




SN AEs
M AR
Sk
(==}

ce: =

SAf - E 2l (5 5 SJEL-S ~
M« B2 - S2(3H) - MRAY - BaS 0 & 24 e HRE2
O&z2g 4AZ3& 2e 900& *26,000m" 23,400
OZZEAY 69,000
— e 600,000 *15km 9,000
—J|EtH 600,000 »10km+ 100 & 60,000
OAIJEXl ZB&tX 234 =4
20,000 200 m" 574 & 20,000
OZSAEAMS 10,000 +600m =114 S ™ 66,000
OAZEAXZHLEAN Y2HE &X
1,000,000& *5H 2 5,000
Ot s AIJHXI SFE4 X 200,000

—w2 ¥ IOt g FEEX

200,000& *1,000m 200,000

03 AIZ=0ibI 594 0 594
OZS& ZEAY 66,000,000 *0.90/100 594

MEFH= 2 A= 22 517,994 520,000 2,006
e 180,000
= 337,994

401 AIEHIZ=0Y] 517,994 520,000 A2,006
S 180,000
= 337,994

01 Al&HI 514,512 516,494 21,982
OSHIEXAY 514,512

364,376,000 364,376

S 110,000

[ia 254,376

—2lZ2AEH(L=1.0km) 31,000,000 31,000
S 10,000

s 21,000

119,136,000 100 & 119,136
S 60,000
s 59, 136
03 AlZ=201dl 3,482 3,506 N24
OEHIEXAY 3,482

|
0z
il
H
£
il
]
He

A=t (11E =)
364,358,000 +0.72/100 2,624
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SH AMR=T
Hu: NENE SA(SHLSA/AY - AE)
CHol: EEEYIIR)| (eH9l: 22
SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
—CAK HRSERE AL
119, 136,000 *0.72/100 858
FdHE =4 557,518 1,464,054 A906,536
= 322,363
= 71,850
o 163,305
ABFAM = X& 414,033 1,365,833 951,800
= 271,063
= 44,206
iy 98,764
401 AlZHIZLE204b] 213,285 1,277,321 A 1,064,036
= 121,105
== 27,638
iy 64,542
01 Al&H] 211,533 1,261,073 1,049,540
O=ZHIEXZ AL 211,533
—XSAIY AAIEH . 22l =X (60ha)
14,344 ,000& x 14! 14,344
= 10,040
& 1,291
- 3,013
— A M2 dBtEX2l(54ha) 90,736,000& 90,736
= 33,225
== 17,496
o 40,015
—2IJICH Al (5ha) 4,530,000& 4,530
= 1,565
== 890
o 2,075
—at2|(8J]) X8 (13ha) 37,875,000& 37,875
= 29,783
= 2,548
o 5,544
— X2 0AX =2l (30ha) 25,644 ,000& 25,644
= 20,100
== 1,710
o 3,834




SN AEISXID
H: MR S (STHYSA/YY - ME)
el ZRY E4 Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
— M Eh % 2 (50ha) 31,346, 0002 31,346
= 20,901
= 3,234
i 7,211
—Z&X HI2%II(40na) 7,058,0002 7,058
= 5,491
= 469
i 1,098
W NEEE T 1,752 8,156 6,404
OZHIEXZ A 1,752
~ XX & 2l(30ha)
25,830,000& *0.72/100 186
— AR EEY 2 oH(58ha)
90,730,000& *0.90/100 817
—&421(871) X2 (20ha)
37,872,0002+1.08/100 410
— M€} % 2l (50ha) 31,343,0002+1.08/100 339
402 PIZERIZO0IH 200,748 83,512 112,236
= 149,958
= 16,568
= 34,222
01 QtR=8x 200,748 88,512 112,236
OETTCEIN= 200,748
—SE&EX Z2(50ha) 126,855,000& 126,855
2 98,665
= 8,458
fia 19,732
—E48Z M= =2 (28ha) 65,343,000& 65,343
2 44,643
= 6,210
A 14,490
—E2INSH X2 (2ha) 8,550,000& 8,550
2 6,650
= 1,900
ZURIUEEY 143,485 98,221 45,264
= 51,300
= 27,644




SN A=
Hal: NN SH(SYHYA/YY - ME)

ool FRE E4 (S5 & 9)
_ _ HE T
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz

2Ue3AxY 2 64,541
401 ANEHILLHY 143,485 98,221 45,264
=2 51,300
= 27,644
2 64,541
01 A& 142,313 97, 161 45,152
ORI EA 142,313
—2UR(2Le) E(11ha) 39,206, 0002! 39,206
= 11,89
2 27,312
—2UR(B39) =2 (%ha) 103, 107,000% 103,107
2 51,300
= 15,750
2 36,057
03 Al&=Hl 1,172 1,060 12
SELCEINL- 1,172
—2UR(2s) £ (11ha)
39,635,0002! +1.08/100 429
—2UR(Z9!) =2 (%ha)
103, 103,000210.72/100 743
NUBY BTSN A/YY - ME) 4,665,383 4,278,559 386,824
= 383,327
= 2,275,480
= 463,806
2 1,542,770
N-EY JIBEE 4,665,383 4,278,559 386,824
= 383,327
= 2,275,480
= 463,806
2 1,542,770
NYUESAE EH L 2 127,810 9,450 118,360
101 Q12| 15,980 9,450 6,530
EBEEENE 15,980 9,450 6,530
OMEfz= e 31,0002 12 %2802 8,680
OMEHz OFA5} 31,0002 *10% 102 3,100




SA
X XH .
(=

chel:

5 o HE T
N33 S2(3H) - MEAMY - BES Aol Ol AF o8 HwsZ
OdEs M=% 42,0002 10 *10 4,200
201 ZEH2EH] 9,600 0 9,600
01 AF2Z2/| 6,000 0 6,000
OHdEi= SLtUE &
3,000,000 <2JH 2 6,000
02 324 3,600 0 3,600
OME= 44+ TIIANER 300,000 * 122 3,600
206 MHZH 27,500 0 27,500
01 XZ 4l 27,500 0 27,500
OMElE Oras 2gl 2,5002 10,0002 25,000
OME% H2 7 5,0002 *500 2,500
401 AlEHIL ST 74,730 0 74,730
AR 73,930 0 73,930
OdH= Xz HHl ¥ &L H
82,0002 x600m 49,200
OHdE= M2 FHY| 49,460% *500m 24,730
03 A& =il 800 0 800
OdH= Xz HHl ¥ &L E
49,200,000 *1.08/100 532
OdtHs A2 HH
24,730,0002 *1.08/100 268
2 MAXI ALY 218,400 72,800 145,600
402 QIELE01M 218,400 72,800 145,600
01 QIZREEZX 100,800 0 100,800
OgLIR |R0tS XA
3,600, 000! *56ha*50/ 100 100,800
02 QI2FCHEALIHI 117,600 72,800 44,800
OgU:R &3 AN
3,500& *5,200ha*4 & 72,800
OgLISR EIIAHZE HHI
5,600,000 *87H 2 44,800
ZMEOISEY 520,256 797,772 A277,516
2 16,354
2 382,000
= 58,770
2 63,132
101 QI 26,208 12,643 13,565
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SA
X XH .
(=

chel:

2=
Y BHE (YWYl /YY
gAY J|BEE

_ _ _ Muo
M- B S(3H) - MRAY - BES Arel e HlE2
401 AEHIZ=20Y] S 55,500
= 55,500
01 AlI&HI 490,135 779,350 N289,215
O E3HAMY 490,135
—MEEH & THoHH & E It 95,000,000 95,000
s 86,000
= 4,500
fiis 4,500
— M EMEIDIES A (1)
395,135,000& 395, 135
P 296,000
= 51,000
[ia 48,135
03 A& =0 2,865 4,410 A1,545
OZESAHAEY 2,865
—AHEMENOIS 398,000,000 *0.7198/100 2,865
MEFAANETL Y 2tel 2,552,256 2,396,025 156,231
= 21,753
s 1,515,000
= 304,650
= 710,853
101 Q24| 26,633 26,656 A23
= 15,979
= 3,195
= 7,459
10 JIZH22XNSES 26,633 26,656 A23
O=HIEx A 26,633
—AMXNAEEX 2UHY V(1Y)
12,018,000& 1 12,018
= 6,900
= 1,535
[ia 3,583
—&XNEZ22LIHE BEE 776,000 776
= 776
—MANMZL2LIHE HEEHI 311,000 311
= 187
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2A: ME=X0
B MRS BAH(SUNLSL/YY - HE)
Crol: MEAY JpHaE oL
A BB O(B) - NEAY - BAS Of o e Hl R =2
—Aoaseke =M ((2004A)
1,302,294,000& 1,302,294
s 915,000
< 117,600
o 269,694
—MEHE ZA(1HA)
1,191,494,000& » 171 A& 1,191,494
s 600,000
== 180,000
i 411,494
02 Zeltl 4,186 4,186 0
OZSSAHAY 4,186
—MEls =4 (1L) 4,186,000& 4,186
03 AlZ=04d] 9,026 14,663 Ab,637
O ESAHAY 9,026
—Aoaseke =4 (2004A)
1,307,000,000& *0.36/100 4,706
—MEl= L (1IL)
1,200,000,000& *0.36/100 4,320
405 XHAHFE SHI 18,000 36,000 A 18,000
= 5,400
= 3,780
i 8,820
01 TR ESSFHSHI 18,000 36,000 A 18,000
O=HE2XAMS 18,000
—MET2FEAAE 2E(IME)
18,000,000& * 1Ml E 18,000
= 5,400
== 3,780
i 8,820
AT AIA 473,100 358,920 114,180
s 378,480
& 47,310
= 47,310
401 Al&HIZ 20 473,100 358,920 114,180
s 378,480
& 47,310
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A MR=XD
HH: MUAN LG (SHMSSM/AY - ME)
el AEIAEY DBt S QM)
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES agel @;OH Hl =2
401 Al&HI L2y = 47,310
01 Al&H] 469,693 356,358 113,335
OZRESIAMY 469,693
— AT AR ALAIAHI(0.7km)
131,600,000 *4.08/100 5,370
— AT XOHE ALAIA A (5km)
310,000,000 *3.39/100 10,509
—AE=E 4 AAIAH (7km)
31,500,000 *3.39/100 1,068
— A A& (0.7km) 125,282,0002 125,282
= 105,280
[= 13,160
= 6,842
— ol & AR K ¢ (5km) 297,259,0002 297,259
= 248,000
[= 31,000
= 18,259
— QT 82 (7km) 30,205,000 30,205
= 25,200
[= 3,150
= 1,855
03 Al&=C0HHI 3,407 2,562 845
ORESIAMY 3,407
— A AIA(0.7km)
131,600,000 %0.72/100 948
— Q& RN 2 (5km)
310,000,000 *0.72/100 2,232
— & 82 (7km) 31,500,000 *0.72/100 207
ARSI BH 04 2 202,288 65,552 136,736
308 XIXIESHMSOIE 202,288 65,552 136,736
05 XXISH2EY2 202,288 65,552 136,736
O=ZHIBZAY 202,288
— AbEFE (8O0 &) 183,568,000 183,568
—AbErE F=A (9 A) 5,670,0002 5,670
—Abgre H2A(11HA) 438,00024 438
—Ab2HX] B A (4ha) 76,0002 76
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SN ARSI D
B MUAY BASH(SYNLSA/AY - HE)
SHol MRS JIBIEE (S92l
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
— X 2 &AL (Tha) 4,860,000% 4,860
— AP e OFM ZZ X (100 &) 4,500,000& 4,500
— AMEPANYY EFZEEOHOMA)
3,176,000& 3,176
403 XXIEHSA=01H 0 0 0
EPEE EEEERET 0 0 0
O=HI 2 E A 0
— AHEFEH (8H £ 0% 0
—ANE Fa (L) 02 0
—AHE FA(11H2) 02! 0
— AP Xl & A (4ha) 03 0
— &K 2 E AL (1ha) 0% 0
—AFE QR X (174) 02 0
— AHEPALYY EFZEBOHOA) 02 0
2 AT 522,140 578,040 255,900
= 345,220
& 53,076
2 123,844
402 Q12X+ 01 522,140 578,040 755,900
= 345,220
& 53,076
i 123,844
01 QtR=8=x 522,140 578,040 A 55,900
O=HIEXZAIY 522,140
— 8 LHR E 21 2(300ha) 76,140,000& 76,140
= 59,220
< 5,076
i 11,844
—EEAZ AIE XA (34km) 68,000,000& 68,000
2 34,000
= 10,200
i 23,800
—& U&= =4 (90ha) 378,000,000& 378,000
2 252,000




SN ARSI
M MNUPY BHS(SEHYSA/AY - ME)
Sl ARAY JIPEE (5 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
= 37,800
= 83,200
ATAIA el 49,133 0 49,133
401 AlEHILL 0 49,133 0 49,133
01 Al 48,608 0 48,608
OYZAER ZHI| AbY 1,620,260 %30Kn 48,608
03 Al&SCH| 525 0 525
OYTAIE EHII At
48,608, 00024 *1.08/100 525
ME - BEHOR AW NBZH(STHYEL/YY 6,897,007 7,085,173 188, 166
aE)
2 3,044,217
= 672,367
2 3,180,423
NEECR - ERTES] 2,132,443 2,067,471 64,972
2 374,339
= 121,300
2 1,636,804
NYESAY B 46,940 17,000 29,940
101 oIty 7,440 4,800 2,640
10 JAHZENSES 7,440 4,800 2,640
O A 31,0002 *4% 602 7,440
201 Ler2y| 1,500 1,200 300
01 AFR2elt] 1,500 1,200 300
OdMad Bx7Y 100,000% ¥525 500
O#dH&I T=y| 10,0009 *52§ <25 1,000
01 YEHI 13,000 11,000 2,000
10 BAMHEAS 8,000 7,000 1,000
OM&I 43S 600, 0002 *5% +13] 3,000
oMY B2 500, 0002 #1084 13 5,000
12 JlErPAS 5,000 4,000 1,000
O&rEl 9i8h &0l As 20,0002 *100% 2,000
OMSUDT HA 100,00021¥30%S 3,000
303 ZH3 3,000 0 3,000
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SA: ME=XID
HE: ME - BHANOR HEE MBXA(SGHLA/AY - AL
CHel: AEgls B AUDHED| (St &)
= - FSIER=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
01 Zaz 3,000 0 3,000
OAt2EX] S8 40|12 53 3,000
—E (1) 1,500,000 1,500
—24(10A) 1,000,00024 1,000
— & (1 A) 500,00024 500
405 XHAHE SHI 22,000 0 22,000
01 XHAYLESEFHSH 22,000 0 22,000
OFGIS =2t&H| ¢ 22,000,000%! *1CH 22,000
At20e 25 651,888 629,888 22,000
101 QI 24H] 634,088 615,888 18,200
10 JIZH2Z2ANEES 634,088 615,888 18,200
OALZS AR AFS 634,088
—xA 32,0002 * 12 182 69,888
— Bt 31,0002 *1002 » 1822 564,200
201 YLt YH] 14,800 11,500 3,300
01 Ar2t2|t] 13,600 11,500 2,100
OEXA A (F2 T2H)
5,00024 *1,0000H 5,000
OArES XAl Moh JIE 1,00024 %3, 0000H 3,000
OMt2AEtAl 22X Z A
7,000 x4%H «x200 5,600
02 ZEZ=29H| 1,200 0 1,200
O HEE L M2LAIANALY IS &
= 100,000« 122 1,200
203 YR=ZH| 3,000 2,500 500
03 AMEXYREZAY| 3,000 2,500 500
OAtS 0 gt 3,000,000 3,000
Ar2XE L XSEY O B5 515,946 582,620 66,674
201 LB YH] 20,000 46,900 A26,900
01 AFR2t2|H] 20,000 46,900 226,900
ONIE ROIZAIAAE 29
20,000,000 * 1= 20,000
401 Al&HI 2=y 495,946 535,720 A39,774
01 Al&H] 495,443 535,720 N40,277
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SN A =X
M ME - SHEENOT AXE MBIH (NS A/UH - AE)
ool MEgle SRS (2 &
_ _ PR
SH-EFHHA(FA) - NIRAE - BES 01l A+oH 'oﬂ/'\_FOH Hws2
ORd2sd 2AMS 8,370 53,638’ 448,951
ORI AIFtoet M (&E8l)
23,246,000 & 201 & 46,492
03 AlZ=0Hd] 503 0 503
ORI At et M (&E8I)
46,492,000 *1.08/100 503
AMSIES ALY F=A 146,863 71,282 75,581
= 60,611
== 25,876
= 60,376
101 QI 4| 53,129 66,246 A13,117
= 31,877
== 6,376
= 14,876
10 JIZtHZ2Z2NSEs 53,129 66,246 A18,117
O=HIExZAIY 53,129
—=2ATAR(2Y) 1,395,800 x2H 10 27,916
= 16,750
o= 3,350
= 7,816
—=MEf22e (1Y) 11,584,000& 1Y 11,584
= 6,950
o= 1,390
i 3,244
—SAFoHLOI (1Y) 13,629,000& 1Y 13,629
= 8,177
o= 1,636
o 3,816
201 Letd| 1,944 4,636 N2,692
= 1,167
== 233
= 544
01 At 2teld] 1,944 4,636 A2,692
O=HIEXAY 1,944
—=ME2elel 2us(1Y)
194,400 =10 1,944
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SA

A= T
M ME| - BAWOR AW MYXH(STHYSA/LY - &
9l AEQIE BIYDIS) (e19: @8
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
2 1,167
= 233
2 544
301 YsrPAS 100 400 300
= 60
= 12
2 28
10 SEAAEIBAS 100 400 300
SELICEINL 100
—zMER DREY 10,0002 *12 100
2 60
= 12
2 28
401 ANSHILLHH 91,690 0 91,690
= 27,507
= 19,255
2 44,928
01 AZHb] 90,710 0 90,710
SELICEINL= 90,710
—MRINHIA SAREH] AL (3kn)
90,707,000 %5. 11/100 4,636
— M AHIA SAR2F A (3kn)
86,074,002 86,074
2 27,507
= 19,255
2 39,312
03 Al&=rHyl 980 0 980
O2HIBEA 980
— M AHIA SARF A (3kn)
90,707,000 *1.08/100 980
A0l st 558,506 493,003 65,503
= 284,408
= 82,229
2 191,869
ICIER] 514,740 481,258 33,482
= 259,848
= 76,467
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S A ST

M3 ME - BAROZ AWE MUXH(STHYL/YY - ME)
ol A2l SISl (B9l &2)
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot Hlws2
201 Yoyl 2 7,310
= 3,290
2 7,675
01 ArREaltl 18,275 24,270 ~5,995
SELCEIVS 18,275
—AHE S ZAIHI(1,2008) 6,000,00084 6,000
= 2,400
= 1,080
2 2,520
— M2 S (250%) 5,000,0008 5,000
= 2,000
= 900
2 2,100
—F XIS ABHOHH (150 1) 675,0002 675
= 270
= 122
2 283
—MEYUXEAY 22=(339)
6,600,000 6,600
= 2,640
= 1,188
2 2,772
308 XXISHSO0IH 139,000 152,050 A 13,050
05 RXSHA=ELD 139,000 152,050 A 13,050
Sl=CE IV 139,000
— I RH(10H) 139,000,00024 139,000
401 ANEZHI L2 15,000 15,000 0
= 6,000
= 2,700
2 6,300
01 A&t 15,000 15,000 0
SELCEIV 15,000
—SOILAISIHE HRASSEII(1H)
10,000, 0002 10,000
= 4,000
= 1,800
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S A ST

SELE AOHEH BEANOZ AAMES MBIM(SHSLSL/LY - AE)
CHel: AEQlE SHUDHED) (e
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
z 4,200
—R0I2AITIDI2E KX 22(1TH)
5,000,000 5,000
= 2,000
[ 900
z 2,100
405 XA SHI 40,025 82,358 A42,333
= 16,010
[ 7,205
z 16,810
01 XML SEFSH 40,025 82,358 A42,333
O=HIE XA 40,025
—sSHe 2EIIZL ) 1,600,000 1,600
= 640
= 288
= 672
— eI & 3t & d| (2500H ) 15,425,000 15,425
= 6,170
[ 2,777
z 6,478
—LESAFY SAHIXZ(1T)
10,000,000 10,000
= 4,000
[ 1,800
2 4,200
—JIHSHAZSRGAIAE (AE20)
7,000,0002 7,000
= 2,800
[ 1,260
z 2,940
—JIHSAZSRSAIAE (SE10)
6,000,0002 6,000
= 2,400
< 1,080
z 2,520
MBS 833,001 949, 130 A 116,039
= 414,008
[ 73,572
= 345,511
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S A ST

Mp: ME| - BANOZ AW NUEH(SUHYAN/UY - AE)
ol AEEs (E49: & 2)
= o MuE o
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K Ofl At ot Hws2
254 ne 139,993 50,000 89,993
401 Al&HIL=HY 139,993 50,000 89,993
01 AlZH] 138,992 49,460 89,532
ODtS=EH Z&AY 19,856, 000! *7JH A 138,992
03 A& 1,001 540 461
ODtS=EH Z&AY
138,992,000 +0.72/100 1,001
MYYHEL R R 161,934 171,362 £9,428
= 86,751
= 22,554
= 52,629
101 Q124 93,408 81,248 12,160
= 46,704
= 14,011
2 32,693
10 JIAH2ENSE+ 93,408 81,248 12,160
O=HI2 EAH 93,408
— O = RIS (1HE) 93,408, 0008 *1&J 93,408
= 46,704
< 14,011
2 32,693
401 Al&HIL=HY 65,526 76,408 ~10,882
= 38,547
= 8,093
= 18,886
01 Al&H] 65,064 75,946 10,882
O=bI2 EAH 65,064
—2LS HASE 4D DASHA,00
0=) 17,599,0002 17,599
= 12,485
< 1,605
2 3,509
—2U=T2| LR AH(50na)
19,990,000 19,990
= 12,151
< 2,352
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SN ME =X
Mz ME| - SHHNOZ HES MEXIH(sSolYAH/AH - AE)
G MEIES CER:E
_ _ - HEc
SA B G(E) - NEAY - B O &t o4 i HREZ
= 5,487
—Xa4d XA H (30ha) 3,654,000 3,654
= 1,888
L= 529
= 1,237
—ZA2IS JIX0ISY 2?42 (20h
a) 23,821,000& 23,821
= 12,023
< 3,607
= 8,191
03 Al&204YI 462 462 0
O=HE2xAMI 462
—AUEMEESAI D DAFE HMH(9002)
21,944 ,000& *1.08/100 237
—ZACIS JHXIOIESY YIS 4H2HE (20h
a) 20,833,000& *1.08/100 225
405 XhaHFESHI 3,000 8,871 A5,871
= 1,500
= 450
= 1,050
01 T ESFHSHI 3,000 8,871 A5,871
O=ZHIEB XA 3,000
—&Usn SEI3I(2U)
750,000& *2CH 1,500
= 750
< 225
= 525
—J|H S (2th) 750,000 *2CH 1,500
= 750
< 225
= 525
254+ bl 58,086 52,800 5,286
& 7,272
= 50,814
401 AAHIL 20 58,086 52,800 5,286
& 7,272
= 50,814
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SN AESXIIL
M ME| - BANOR HIE MAUTMH(SUHSSL/AY - ME)
EHol: NEES (ciel me
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
01 Al&HI 57,563 52,230 5,333
OZHIEZAIS(E2H) 57,563
—254 FUlAIE (1282) 57,563,000 57,563
& 7,272
o 50,291
03 AlZ=0Hd] 523 570 NAT
OZHIEXAMY 523
—254 JHIA(1282)
58,086,000& *0.90/100 523
B2 ASKE 473,078 674,968 A 201,890
= 327,257
& 43,746
= 102,075
401 AIEHIZLROY| 136,230 200,540 264,310
= 90,909
& 13,596
= 31,725
01 Al&HI 135,072 198,735 AB63,663
O=HIEXZ A 135,072
—MSE2 "EX AAEH
113, 150,000 5. 11/100 5,782
—BEOHRE SIEK SRA(2HL)
107,030, 000& 107,030
= 79,779
= 10,257
i 16,994
— S22 ESAY EXA X (1004)
22,260,000& 22,260
= 11,130
= 3,339
i 7,791
03 AlZ=0id] 1,158 1,805 NBAT
O=HIEXZ Al 1,158
—E SO FlET 2RAY(2HA)
107,209,000 *1.08/100 1,158
402 BIZ2HX =0l 336,848 474,428 A 137,580
= 236,348
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SN AESXIIL
M ME| - BANOR HIE MAUTMH(SUHSSL/AY - ME)
EHol: NEES (ciel me
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 SIZ2HX =0l = 30,150
= 70,350
01 QIZIXI=2E2 X 336,848 474,428 A 137,580
OZHIEXZ A 336,848
—BHE2t ASXIA(2AH) 335,000,000 335,000
= 234,500
< 30,150
o 70,350
—WEO ASKE ASBAR(121)
1,848,000& 1,848
= 1,848
AFXIRHR S 3,931,473 4,068,572 A 137,099
= 2,255,870
& 477,495
= 1,198,108
=0t RI| ALY 2,980,989 3,570,181 A589,192
= 1,676,940
& 366,029
= 938,020
201 B2 I 32,430 0 32,430
= 19,458
= 3,892
= 9,080
01 AtS2eld] 32,430 0 32,430
O=HIEXZ A 32,430
— MBI A S OHHI(20Y)
32,430,000 32,430
= 19,458
& 3,892
= 9,080
301 Lptsazg 7,200 16,200 29,000
= 7,200
10 SAIAHIENS 7,200 16,200 A9,000
SELCEINE- 7,200
—AEHIOIQA +=TEE2 NS (20
) 360,000& 20 7,200
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A ME=TIn
M ME - BHINOR AFE MM (oYY - AE
Chel s AKX S CEE:E
_ - AT
A -3 -H2A(SH) - HEAMY - BES O AF K loﬂli\_FOH Hos
= 7,200
401 Al &HIZ =20 2,344,321 2,770,195 A425,874
= 1,302,656
& 287,014
= 754,651
01 Al&d 2,250,329 2,723,858 N473,529
OZHIEXZ A 2,250,329
—=JtRI| AAIEH(2,250ha)
117,065, 000& 117,065
— =R IIAFY (2,350ha) 1,958,005
- Ot& Z=H& 1X172(100ha) 88,000, 000& 88,000
= 49,074
[ 10,372
= 28,554
- Ot& 22 1XI7(100ha) 88,000, 000& 88,000
= 49,074
[ 10,372
= 28,554
- 0t& JtE 1K (100ha) 88,000, 000& 88,000
= 49,074
< 10,372
= 28,554
Ot& =& 2X7(100ha) 88,000, 000& 88,000
= 49,074
< 10,372
= 28,554
S& ZEXIF(150ha) 120,000,000& 120,000
= 66,919
< 14,144
= 38,937
& Ef2 1X17(150na)
120,000, 000& 120,000
= 66,919
[ 14,144
i 38,937
& =8 X7 (250ha) 200,000, 000& 200,000
= 159,109
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SN AESXIIL
Mz M- BANOZ ANE MAURH(SEHLFM/AY - AE)
Sl AHXIRHA 3
SA BB CR(SH) - NRAY - A S Ol o e
< 23,573
i 17,318
28 =24 XI7(150ha) 120,000, 000& 120,000
= 66,919
= 14,144
[ 38,937
=8 HEXIF(150ha) 120,000, 000& 120,000
= 66,919
= 14, 144
i 38,937
28 3EXIF(250ha) 199,002,000& 199,002
= 145,831
= 35,853
i 17,318
28 MZF=XIF(250ha) 199,003,000& 199,003
= 145,830
= 35,854
i 17,319
28 2 EXlIF(100ha) 88,000,000 88,000
= 49,074
= 10,372
i 28,554
S8 &3 1XI7(100ha) 88,000,000 88,000
= 49,074
= 10,372
i 28,554
S8 &3 2XI7(100ha) 88,000,000 88,000
= 49,074
= 10,372
i 28,554
- Ot& JFE 2X172(100ha) 88,000,000 88,000
= 49,074
= 10,372
i 28,554
- Ot& 22 2XI7(100ha) 88,000, 000& 88,000
= 49,074
= 10,372
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A MR=XD
I ME - BENOR HEE MBI (SBIGHUSL/AY - AE
Gt AKX S} (AL
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
= 28,554
-E&® B2 2X72(100ha) 88,000,000 88,000
= 49,074
[ 10,372
= 28,554
— {212 I3 D] (150ha) 47,491,000 47,491
= 26,485
[ 5,594
= 15,412
—4428 MH(23)AI (80ha)
47,490,000 47,490
= 26,485
[= 5,594
= 15,411
—MBHAHEAN EH(7,500na)
80,278,000 80,278
= 40,500
[= 20,250
= 19,528
02 Zeld 84,488 34,875 49,613
OZ2HIE X ALY 84,488
—= I RIIAFY 221(2,250ha)
2,439,317 ,0002 *3.46359/100 84,488
03 Al&=204HI 9,504 11,462 A1,958
OZHIEEZ ALY 9,504
—=JIRI|AFR (2,250ha)
2,439,317,0002 «0.36/100 8,782
— M S AN F 4 (7,500a)
80, 125,000 *0.9/100 722
402 QIZHR=0|A 590,538 763,786 A 173,248
= 344,626
[ 73,773
= 172,139
01 RIZtXEEX 218,174 0 218,174
O=ZHIBZAMY 218,174
— X2 X AFE=22/(530ha) 218,174,000 218,174
= 121,208
[= 29,090
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AN M=
M ME| - BANOR HIE MAUTH(SUHSSL/AY - ME)
Chel s AKX S CEE:E
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
= 67,876
02 OQI2FCHSE A Y] 372,364 763,786 A391,422
SETEEINE 372,364
—AFEIHIOI QO A =& EE(20Y)
372,364,000 372,364
= 223,418
= 44,683
- 104,263
405 RAHAHS SHI 6,500 20,000 A 13,500
= 3,000
== 1,350
iy 2,150
01 AANLEEFSHI 6,500 20,000 A 13,500
O=2HIEXZ AL 5,000
—MEHOIQ0A +HBE MSHSIY)
s 1) 5,000,000& 5,000
= 3,000
& 600
= 1,400
OZHIEXZ AL 1,500
— 392 HOIEHI(350) 1,500,000 1,500
= 750
o 750
Xl &HE IR 950,484 496,891 453,593
= 578,930
= 111,466
iy 260,088
101 Q14| 38,707 35,202 A 1,495
= 20,224
= 4,045
iy 9,438
10 JIZHZ22XNEES 33,707 35,202 N 1,495
O 2F A 33,707
— 220D AT AFEH(2Y)
33,707,000& 33,707
= 20,224
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AN M=
M ME| - SBANOR AXE MUTH(SUHASL/AY - ME
Chel s AKX S CEE:E
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
[ 4,045
- 9,438
201 B2 IH| 94,399 0 94,399
= 56,639
== 11,328
iy 26,432
01 AtR222id] 94,399 0 94,399
O=ZHIEXZ AL 94,399
—Z22AMD131D| 20iH(60Y)
94,399,000 94,399
= 56,639
== 11,328
o 26,432
301 LBt A= 21,600 9,000 12,600
= 21,600
10 SHAIAHIEAZ 21,600 9,000 12,600
SETCEIVE: 21,600
—Z2Z24MEEDIR)| nEEEH|(60Y)
360, 000& *60H 21,600
= 21,600
402 QIZ2EXE0| ™ 800,778 452,689 348,089
= 480,467
= 96,093
iy 224,218
02 OI2HCHEE A Y] 800,778 452,689 348,089
O=HIEXZ A 800,778
—Z2Z2AIDIRI(60H) 800,778,000 800,778
= 480,467
o= 96,093
= 224,218
MEASS HE(SolYEaH/U - AE) 1,968,985 2,806,013 A\837,028
= 1,115,175
== 349,105
iy 504,705
MEASAE X2 117,960 296,363 A 178,403
LA S 4 5 102,960 147,640 A44 680
|
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2A: ME=X0
B AEASE HE(sAHY o - )
Erol: AERlASAIY X E (292 8)
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
101 @IAH| 29,760 30,240 A480
10 JIZHHZ22sSEs 29,760 30,240 A480
ObtaAIHERXI 22| 2
31,0003 »2H #2800 17,360
OLMAHEX M=HY 2R AS
31,000 »20H *20 12,400
201 LBHEHH| 23,200 17,400 5,800
02 =294l 4,200 17,400 A 13,200
QUMW M= 150,000 * 123 1,800
OAESR 2elA 2 2,400,000 14 2,400
03 A2l 19,000 0 19,000
02009 AtarErE 3l 19,000, 000& *13] 19,000
308 XXEHMSOIE 50,000 100,000 50,000
05 XXIEHZ2RES3 50,000 100,000 A50,000
OLrL AT M3 A7 50,000,000 * 14! 50,000
HIASULS MAXS 15,000 119,223 A 104,223
206 MZHl 15,000 0 15,000
01 M=l 15,000 0 15,000
OMAOIE M XI&A 15,000,000 * 14! 15,000
iE SHXAA 0 29,500 229,500
301 YotEaEz 0 29,500 A 29,500
10 AIAHIEAZ 0 29,500 A 29,500
OogtltE2 =M X3 0
2L o 0
—oto| ™ o0& 0
—J|EtH 03 0
HAS g 1,851,025 2,509,650 A658,625
= 1,115,175
& 349,105
= 386,745
IASAES MAXR 1,851,025 2,509,650 A 658,625
= 1,115,175
= 349,105
= 386,745
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2A: ME=X0
HH: AMUASH BE(SYHSSL/UY - ME)
CHl MRIAS Y CECR-E!
SN EY O (BH) - MRAY - BLS Aol e
402 QI2HXE01H™ 1,851,025
= 1,115,175
= 349,105
= 386,745
01 QIZIRI=22 X 1,851,025
O=108 XM 1,851,025
— a2 MAOIZEH K&
130,000, 0003 » 14! 130,000
= 65,000
== 32,500
i 32,500
—MESsEgZE 25,200,000 * 10 & 25,200
= 12,600
== 6,300
i 6,300
— o= MAH 390,000,000 390,000
= 260,000
= 65,000
i 65,000
— &= 2 EXNE
4,275,000 =108 2 4,275
= 3,325
< 475
= 475
—UME EESoOHAA (ML)
73,200,000 73,200
= 36,600
& 18,300
= 18,300
—gatE HE ES 88,400,000& 88,400
= 44,200
= 22,100
= 22,100
— MR A=ZE3 ZHE(1HA)
750,000,000 * 170 2 750,000
= 500,000
& 125,000
i 125,000
—HIOTHHHAIE 39,200, 000& *1JH & 39,200
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SA
X XH .
(=

o9l

L RE-E

SRS - HRAY - B2

20
B
2

A

Mo

©
r
Mo
10
Om
A
(U]
44
kA

& 163,600,000&

A

Mo

—UAEINSXA (1)

2,000,000 * 101 &

H

Mo

|
for
Jio
oy
00
H

°

2 23(940)
98,700,000

H

Mo

— 43 SAHEZE(1500)

45,500,000&

H

Mo

— 22 MZAIE X2 (130ha)
40,950,000&

H

M H

19,600
9,800
9,800

163,600

81,800
40,900
40,900

2,000
1,000
500
500

98,700
42,300
16,920
39,480
45,500

19,500
7,800
18,200

40,950
29,250
3,510
8,190

02

2l (A & =X (J1EHDIE

83,140

84,280

A1,140

4,200

4,200

4,200

4,200

4,200

4,200

350,000 128

4,200

4,200

4,200

ol o | ©

78,940

80,080

A1,140

78,940

80,080

A1,140

42,460

46,960

A4,500

2,000,000 19

42,460

38,000

46,960

A4,500
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SA M =X
o WHS A A (ARSI (OIEHIIE)
&Rl Jl=Z3 4l (EH9|:® <)
_ _ PSS
SN HA(S) - HRAY - BES Off &k o Ofl At ot Hluse

ogxt= 1,800
—SUEF A 150,000 = 1CH =123 1,800
O=gtl 2,660
—S204ld| 7,000& x19Z 20 2,660

202 Oddl 36,480 33,120 3,360

01 =LHAHI 36,480 33,120 3,360
O& oI 100,000& <19 128 22,800
O=2 0| 60,000& 198 12 13,680
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